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sub = "is";
print(strl.count(sub, 4))
a.5

b.6

i c.7
d.8

strl = "my isnameisisisjameisisis bond";

Q.1 i. Select the correct output of the following String

[2]

CO1

listl = [1, 3]
list2 = list1
list1[0] = 4
print(list2)
a.[4,3]
b.[1,3]
c.[1,4]

d. [1,2,3]

ii. What will be displayed by the following code?

[2]

cOo1 |

k
Understand
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the following tuple

a. aTuple(1:2][1]
b. aTuple[1:2](1)
c. aTuple[2:3][1]

aTuple = ("Orange", [10, 20, 30}, (5, 15, 25))

iii. Choose the correct way to access value 20 from

[2]

Co1

Understan d




d. a’i‘uple[l][l]

iv. What is the output of the following code:

dictl = {"keyl":1, "key2":2}
dict2 = {"key2":2, "keyl":1}
print(dictl == dict2)
a.True

b.False

c.None of above

[2] CO1 U

v. Please select correct ways to empty the following
dictionary

student = {
"name": "Emma",
"class": 9,
"marks": 75

a. del student
b. del student[0:2]
c. student.clear()

[2] | co1

vi. What is the output of the following code

aTuple = (100, 200, 300, 400, 500)

aTuple[1] = 80 B
print(aTuple)

a. TypeError :

b. (100, 80, 200, 300, 400, 500)

c. (80, 100, 200, 300, 400, 500)

2] | CO1

Unde

vii. What is the output of the following code:

alList =[5, 10, 15, 25]
print(aList[::-2])

'a. [15,10,5]

b.[25,10]
c.[10,25]
d[5, 10,15

[2] CO1

Undei

Vil What is the output of the following code:
aList = [1,2, 3, % 5., 6, 7]

pow2 = [2*X for x in alist]

print(pow2)
a[2, 4, 8, 16, 32, 64, 128]
b.[2, 4, 6,8, 10, 12, 14]
c.[2,4,8,6,12,10,14]

d.[2, 4, 6, 12, 10, 12, 14

[2] | Cco2

Unders

ix. Select which is true for for loop

a) Python’s for loop used to iterates over the items of
list,  tuple, _ dictionary,  set,  or  string
b) else clause Of for loop is executed when the loop

| terminates naturally

c) else clause of for loop is executed when the loop

terminates abruptly
d) We use for loop when we want to perform a task

indefinitely until a particular condition is met

[2] | coz
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%x. What is the output of the following loop

[2] |CO2

Understa




- for 1 in 'Jhon':

ifl == 'o":
pass

print(l, end=", ")
» h, n,

h, o, n,

? ’o,n
.J,h, n

-

0o

.Jd
.J
.Jd

% |

' b. black

i. What does the following code print to the console?

hair_color = "blue"
if 3 > 2:
if hair_color == "black"
print("You rock!")
else:
print("Boring")
a. blue

c. Boring
d. You rock

[2] | Co2

Understand

xii. Given the following function funl() Please select
the correct function calls

def funl(name, age):
Print(name, age)

a. funl(name='"Emma’, age=23)

b. funl(name='"Emma’, 23)

c. fun1(Emma’, 23)
d. funi)

[2] | Co2

Understand

xiii. Which of the following sequences would be

for i in range (5, 0, -2):
print(i, end='|m)

La.543210-1
b.543210

c.531

d.None of the above

’ (2] cO2
generated :
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Xiv. Select which is true for Python function [2]
1. A Python function can return only a single value

2. A function can take an unlimited number of
arguments.

3. A function can return multiple values.

4. Python function doesn’t return anything unless
and until you add a return statement

a. Option 1

b. Option 2 and 3
c. Option 4

d. All of the above

CO2

Understand

Xv. What will be the output of the

following Python [2]
| code? :

list1=[3, 4, 5, 20, 5, 25, 1, 3]

list1.reverse()
print(list1)

CO2

Understand




3, 4, 5, 20, 5, 25, 1, 3]
[1,3,3,4,5,5, 20, 25]
[25, 20, 5, 5, 5, 4, 3, 3, 1]
d.[3, 1, 25,5, 20, 5, 4, 3]

a.
.
C.

o5

Solve any three out of four )

a. Write a program for following mage:
mtplogo.png :

i)Import required libraries iijR€aq above image

iii)Display above image  iv)Rotate image by 900

clockwise v)DiSPlay rotated image

(3]

CcO3

Understa

b. Justify Broadcasting rule with example: If the two
arrays differ in their numbel of dimensions, the
shape of the one with fewer dimensions
is padded with ones on its leading (left) side.

[5]-
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Apply

c. Write a NumPy program to InPut: -

Array=[10 11 12 13 14]

i)Calculate byte size of each element

iij)Find data type of an iii)Find size of an array
iv)Find shape of array v)Find of dimension of array

[5]

Cco3

Apply

d. Differentiate between Python list and NumPy
array? What are the steps to diSplay 1D, 2D and 3D
arrays using numpy library, explain with example?

[S]

CO3

Understa:

Q.3

Solve any three out of four _

Input: Refer .txt file for question: b and c.

File Name:Engineedata.txt

Engineers usually design or build things.

Some engineers also use scienc€, mathematics, and
other skills to solve Technology Problems.

There are different types of engineers that design
everything from computers and buildings to watches

and websites. -

-

a. Describe working q':f.
i) read() ii) read(n) iii) readline() iv) readline(n)
v) readlines() Function 1n file handling with example.

5]
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b. Write a program to first display odd number of
lines and secondly display even number lines from

[S]

CO4

Apply

the text file. (Refer Engineedata.txt above file)
c. Write a program to count and display the total
number of words from the file and write expected
word count. (Refer Engineedata.txt above file)

[5]

CO4

Apply

4 Consider following lines for the file test.txt and

predict the output:

Program: Y w )
L = ['vIIT", " college’, * for Engineers\n’]

W = ["Python", " for", " Engineers "]
f= open('testltxt'; 'w')

f.writelines(L)

f.writelines(W)

f = open(‘test.tst", "@)
f.writelines([" \nWelcome!", " To the session."])

f.close() )
' f = open("test.txt", T
print(f.read())

B
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f.close()




